single-thread-generator!! 4’

single-thread-generator{i:1}(es;P;R)
=4et (Ve:E. Dec(P(e)))
& (Ve, €:E. Dec(R(¢’,e)))
& R=> Ary. (x <y)
& (Ve, e":E. (P(e) & R
& (Ym, m":E.
P(m)
= P(m/)
= (Ve:E. (e R m) = (—P(e)))
= (Ve:E. (e R m’) = (—P(e)))
= (m =m'))
& (Va, b, e:E. (R(e,a) & R(eb)) = (P(e) & P(a) & P(b)) = (a = b))

(¢',e)) = P(e'))

clarification:

single-thread-generator{i:1}
(es; P; R)

=qet (Ve:es-E(es). Dec( ()))
& (Ve:es-E(es), e’:es-E(e

s). Dec(R(e'e)))
& rel_implies(es- E(es) R;\x,y. es- causl(es x; y))
& (Ve:es-E(es), e':es-E(es). (P(e) & R(e’, )) = P(¢))

& (Ymees-E(es), m':es-E(es).
P(m)
= P(m/)
= (Ve:es-E(es). (e R m) = (=P(e)))
= (Ve:es-E(es). (e R m’) = (—P(e)))
= (m =m' € es-E(es)))
& (Va:es-E(es).
Vb:es-E(es), exes-E(es).
(R(e,a) & R(e,b)) = (P(e) & P(a) & P(b)) = (a = b € es-E(es)))
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